Current processing summary example

Status:

Active Order no.:

Stan lime:

Time: to end:
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11.07. 2007 21:24:06
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— P T emperatur SW_Temperatur === Py CarbonPol s S CarhonPot
Mama Meas. value {Unit | Stabus | Date/Time
0T good  11.07.2007 21:2616
SW_T emmperatur 20T goeod  11.07.2007 21:26:116
P CarbonPot 116 %  good 11.07.2007 X1:26:16
W _CarbonPol 1.20 % good |11.07.2007 21,2616
Stant 1 good  11.07.2007 2:26.16
Chiff- St 1 good 11.07.2007 21:2616
Ende 0 good  11.07.2007 21:2616
Legianrg 1,10 good  11.07.2007 212616
Restze 000 h good | 11.07.2007 21:2616
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